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QUESTION 1

Click the Exhibit button. Your router is configured to peer with your ISP\\'s router using BGP. You can only control your
BGP configuration. Which address families are negotiated between the two BGP peers shown in the exhibit? 
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A. inet-vpn-unicast 

B. inet-unicast inet-vpn-unicast 12vpn 

Latest JN0-347 Dumps | JN0-347 PDF Dumps | JN0-347 Braindumps                                3 / 7

https://www.passapply.com/jn0-347.html
https://www.passapply.com/jn0-347.html
https://www.passapply.com/jn0-347.html


https://www.passapply.com/jn0-347.html
2024 Latest passapply JN0-347 PDF and VCE dumps Download

C. inet-unicast inet-vpn-unicast 12vpn-signaling 

D. inet-unicast 

Correct Answer: D 

From the exhibit we see: NLRI for restart configured on peer: inet -unicast inet-vpn-unicast 12vpn but we also see: NLRI
that restate is negotiated for: inet-unicast NLRI of received end-of-rib markers: inet-unicast NLRI of all end-of-rib
markers sent: inet-unicast 

 

QUESTION 2

Which protocol supports tunneling of non-IP traffic? 

A. GRE 

B. SSH 

C. IPsec 

D. IP-IP 

Correct Answer: A 

The GRE protocol (Generic Routing Encapsulation) which is a tunneling protocol that can encapsulate a variety of
network layer packet types into a GRE tunnel. GRE therefore can encapsulate multicast traffic, routing protocols (OSPF,
EIGRP etc) packets, and other non-IP traffic inside a point-to-point tunnel. 

 

QUESTION 3

What are three types of bridge protocol data units? (Choose three.) 

A. media endpoint discovery 

B. topology change acknowledgement 

C. topology change notification 

D. type length value 

E. configuration 

Correct Answer: BCE 

 

QUESTION 4

An OSPF hello packet has been sent, but bidirectional communication has not been established. What is the state of the
OSPF adjacency? 

A. Down 
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B. Init 

C. Exchange 

D. Loading 

Correct Answer: A 

Down is the first OSPF neighbor state. It means that no information (hellos) has been received from this neighbor, but
hello packets can still be sent to the neighbor in this state. 

 

QUESTION 5

Click the Exhibit button. 
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You are performing network tests and notice that the Layer 3 interface in the Finance VLAN on an EX Series Pass Your
Certification With Marks4sure Guarantee switch is not responding to pings. You review the device status from the
console. What is causing the problem, as shown in the exhibit? 

A. There are no active physical ports in the Finance VLAN. 
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B. There is no route in the routing table for the Finance VLAN Layer 3 interface. 

C. The Layer 3 interface in the Finance VLAN is administratively disabled. 

D. There are no interfaces configured in the Finance VLAN. 

Correct Answer: B 
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